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THREE YEAR B.A. DEGREE EXAMINATION — MARCH/APRIL 2019.
(CHOICE BASED CREDIT SYSTEM)
SIXTH SEMESTER
_Part-1 — Economics
Paper i CE-1 — INDUSTRIAL ECONOMICS
(w.e.f 2017-2018) _
- Time : 3 hours Max. Marks : 75

PART - A
5 -9
Answer FIVE questions from the following.
208 D SHot SETERaD EreuE.
¥ (M"g;ks:‘Bx 10=50) .
1. (a) Discuss the role of industrialization in Economic Development.
08s93,96" 2dEnisten S8 080D HBYoH0E,
& - or
(b) Explain the classification of Industries in India.
_ groedeos® 38EDe :>§§zsa:» KiBod 338030d.
2, (;1) What is the role of MNS;: in Industrial Develoﬁme'nt?
>OFas o230 © MNSc i 3580308,
1 . ' : . . > on .
(b) How cooperative Societies are helping in developing the rural Industries?
| oo SO0 ey Sa0mDS S Soires o Sk,
3. . (a) - Why there is a low level of Industrial productivity in India?
06" SO0 GEmySE ol B I HoB? :
Or

. (b) What are the causes for industrial gickness in India? Suggest some remedial
measures. Ll AR ' .

E6T5906" SOE BIpBes Seres 33609, PG Sy Ero0ed.
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10.
11
12.

13.

(a)

(b)

(a)

(b)

Elucidate the impact of Globalization on Indian Industries.

Or :
Explnin the various issues relating to disinvestment in India.

TrE6BH06" Deyuche aISoIsme Sus Dgyds 295 SRodw 2560308,

Explain the impact of New Economic Reforms on industrial sector in India.

E8DH0S" SHEX Sorop 578 e Sowyde e SBoS0d.
Or
The role of Government in accelerating industrial development in India.

E88905" 2BF0E wpH)BD LoSEE" ey By 2560508,

PART - B
>f-o
Answer any FIVE questions from the following.
208 20 04 A 0 SHeH SITEHIL EiE.

(Marks : 5 x 5= 25)

Agro - based Industries.
Syeairgr8s S8Eden.
Private Sector.

e Solo.

Sectorial Linkages.
Soree SR R0.

- Industrial poiicy.
T BEravE dgro.

Disinvestment.
be\ga)d)o &ldnordea.
Rural Industrialization.
rTdoes 20~2880e
Economic reforms.

egg JoR),ge.
Industrial productivity.
BEEE &ET)EEs.

1-6-107A




